
+90 (322) 352 14 17info@hidrosan.netwww.hidrosan.net
YIL.25

NG10 Pilot 
Uyarılı

  Hidrolik
Valf

1995-2020



NG10 Pilot 
Uyarılı

  Hidrolik
Valf

4DWHG10

+90 (322) 352 14 17info@hidrosan.netwww.hidrosan.net

(1) Internal pilot and external pilot:The“P”port with M6 screw 3 is external pilot,to convert 
valve into internal pilot, the M6 screw 3 must be removed.
(2) Internal drain and external drain:Removing the bolt 1, to install M6 screw 2 is external 
drain,unscrew the M6 screew 2 is internal drain



4DWHG10

+90 (322) 352 14 17info@hidrosan.netwww.hidrosan.net


